H & 0l & AHS B Ml A

A HSAIEW
33 oM2E M=s =4
el dENE |4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HEMS 14,077,274 19,405,35% A\5,328,082
= 700,000
Jl 412,622
= 1,811,809
Al 11,152,843
PNEE M= |4 11,627,217 17,636,286 26,009,069
= 700,000
) 412,622
= 1,811,809
Al 8,702,786
d2HE =4 5,088,598 4,705,751 382,847
= 614,597
Al 4,474,001
=M ¥ d=03 Wz =& 476,200 32,000 444,200
201 er2 3| 74,200 30,000 44,200
01 AtR2te|HI 70,200 30,000 40,200
HNE 2EEFAEY0ILHE BE AIES2 20,000
HISOHSI (AL ORI L8 ~3H] 10,000
HSAMIAZX0E 2SN DA 10,200
SARH AZX WE Y KX 30,000
02 S3=gl 4,000 0 4,000
22X FFI 4,000
202 04| 2,000 2,000
01 =LHOHI 2,000 2,000
=M & d=02 |X =& o] 2,000
307 elztol & 400,000 400,000
04 QIZHHAIAIS 2 X 400,000 400,000
2024 24 IS (P =M=AE S2U2 400,000
=M FOt 10,000 10,000
307 el2tol & 10,000 10,000
04 CIZHHAMAMH 2 & 10,000 10,000
K058 8=HI=SCHS It 10,000
COHA FHOot 700,000 600,000 100,000
307 @I2t01 & 700,000 600,000 100,000
04 QIZHHAMAIH 2 £ 700,000 600,000 100,000
SESHSUE &t 700,000
SZEE ZOQH=FHE Fot 331,070 248,000 83,070
307 glztol & 331,070 248,000 83,070
04 QIZHHAMAIRH 2 X 331,070 248,000 83,070
M0z SHEZZHMAMSUSE SOt 331,070
2N M= 29 448,001 381,534 66,467
307 el2tol & 445,501 381,534 63,967
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A HsdSH

M QHNIEE HE |4
el dENE |4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
FAE9H| 11,880
g2l 2,160
FoIBHIAIAE 22l 960
02 S3=gHl 12,100 32,160 220,060
32 & MAl 10,000
ANE SXZ= 2,100
1Xgd FX A& 10,000 0 10,000
307 elztol & 10,000 0 10,000
02 2IZHBYAIHE & 10,000 0 10,000
dXEd M=t oldEE K& 10,000
AXX0ODNE 25 N2 55,000 0 55,000
201 fer= 3| 55,000 0 55,000
01 At 2t 55,000 0 55,000
AZXOPE FH SE=SS 7Y 20,000
SYALXMIA(SEAE0LHH) 8L
=5 M 30,000
SEE B A 5,000
dEHE |9 2,839,619 2,742,681 96,938
Jl 412,622
= 187,212
Al 2,239,785
e S2eA ALK 885,900 806,800 79,100
307 el2to| & 885,900 806,800 79,100
04 CIZHHAMAMH 2 & 885,900 806,800 79,100
2024 et=iici=2et0le 2 HF2 A 5,000
2024 ZHI2ZHEN =T =c0IZ 20,000
Ni24z] SNE2SHER 8= S5 HILIA
tHal 25,000
M4zl NS0 ddEHMSE LU 30,000
Nigal RENI2EHEN SEctIESE U1 9,000
2024 28 JS 0P U111 et==raE F7U2 180,000
KI3g| SHNIZEMED SE150HAIZ 024!
=702 10,000
H78l B2 HEN d=F2U= 23,000
24 ABNEZHEN =530 =8 F2
CHal 30,000
KI5l SNIZZEMHEB M= A2 2I0FTHE 20,000
K122 StAISAHENN Ot0tE S 15,000
K162l CHAISZ0{EN MdIBHECIE S 55,000
N5l RENI2EHEN d=HtS0HE 25,000
K4z BtAI2ZEHEH 3X3 s U2l 10,000
M2g| tAIZ2ZEMER &= Ot0t=0 =28
tHal 40,000




gtNE2E M=E |4
MBS S M)
SA - B - BR(31) - KIRAY - BY A 2
N8zl &I HOIESUHE 5,000
MEXE SAIAPD] & E3IHD 20,000
S(E=)HUE & 55Y H3&D| 50,000
2024 2B AMMSSIEE(O]) 99,000
MoMEHSUHSHE Ot 3,000
SHEAMENSUS Fot 57,000
2024 A2 S HEW M= 50,000
30z SETXIAD| HEUS 7,900
2024 EELEE=FEEU S0
A H, =M dEH 82,000
2024 EELE Ssc2ld 203 15,000
d=.& &9 Ed3Hl XA 45,000 45,000 0
307 QI2Hol 45,000 45,000
04 QIZHHAIAIE E X 45,000 45,000
&A= - EHRAUSIEN 30,000
COHNE 28 s E25 15,000
METNSK A HRME(KHA) 18,819 18,819
307 QI2H0| A 18,819 18,819
02 QIRHEAAIH B X 18,819 18,819
MEHSKESI H2IME (XA 18,819
MEEX SR BIXIAIE (BX) 153,440 148,986 4,454
| 76,720
= 23,016
Al 53,704
307 QI2H0| A 153,440 148,986 4,454
| 76,720
= 23,016
Al 53,704
02 QIR AAIHEE R 153,440 148,986 4,454
UM SIS XIS At X 153,440
| 76,720
= 23,016
Al 53,704
HME|XNEA 2Zel(EX HRMA) 86,606 83,540 3,066
= 25,982
Al 60,624
307 QI2H0| A 86,606 83,540 3,066
& 25,982
Al 60,624
02 QIRHHAAIHEE X 86,606 83,540 3,066
MEFS XS HRIHAHI 86,606
& 25,982
Al 60,624
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2A: MSHED
M HNEE M= 84
Cel: MENE |4 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
ZOHQ! AX=AXNOIEA LS NRES
A2 XA 20,0002 x10H + 122 2,400
AR 2% 0I12H(EX) 159,600 121,886 37,714
J| 111,720
& 14,364
Al 33,516
301 LPBNS 159,600 121,886 37,714
| 111,720
= 14,364
Al 33,516
01 Al B&X2HZ2(2REETHA) 159,600 121,886 37,714
AZX2E 0|8 KA 159,600
| 11,720
= 14,364
Al 33,516
HOHAUAZ=AXOIBSH(EX) 36,100 26,351 9,749
| 25,270
= 3,249
Al 7,581
301 LEBNZ 36,100 26,351 9,749
| 25,270
& 3,249
Al 7,581
01 A EEAH 2 ([ REETR) 36,100 26,351 9,749
ZOHCl AZ=AX0| A KIJAA 36,100
| 25,270
& 3,249
Al 7,581
0F2l AAHOIEE =4 213,643 211,958 1,685
101 2124l 131,943 130,258 1,685
M IIRHMZ2Z2XSE+ 131,943 130,258 1,685
AHOIE HIOHHZE 2K 131,943
|22 79,0003 +26H *34 69,836
=22 9,8603 *3A| 2H<25H »22 16,269
= PNE = 79,000 x26 - +x8 16,432
-5 118,500 26 B 6 18,486
-= 2| 140,000& 26 F 2 & 7,280
SmA=u]l 70,0003 x26H 23 3,640
201 L2 | 81,700 81,700
02 33=24H| 81,700 81,700
AHOIE HIOIIE 2323 81,700
YA MAEZ=NSIZ ) (HA) (MEAIY) 50,000 68,000 A 18,000
& 32,500




2A:

33 oMI2E Ms =4
ool dEHs =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 17,500
307 gl2tol & 50,000 68,000 A 18,000
=S 32,500
Al 17,500
02 QB AANSEER 50,000 68,000 18,000
SHH LU MAZ =S WA 50,000
< 32,500
Al 17,500
MEYSI N ES7L 1,650 1,650 0
= 495
Al 1,185
307 el2tol & 1,650 1,650 0
= 495
Al 1,155
02 QItASAIEE X 1,650 1,650 0
MEHSAEH S| 1,650
== 495
Al 1,155
SPEMHE Lolltct=EHa 180,000 180,000 0
307 glztol & 180,000 180,000
04 QIZHHAMAIRH 2 X 180,000 180,000
H21sl EFHE6H0IHEW S 180,000
2EA 22X FE Ads =M 2,500 0 2,500
201 Let=Ehl 2,500 2,500
01 AtR2t2|HI 2,500 2,500
2EA AZX FEADdE =W 2,500
SIS AIE X1 & 3| 699,000 5,247 ,8%4 A4,548,854
METSEAE X 138,000 282,600 144,600
201 et 3| 73,000 56,000 17,000
01 At22t2l] 26,000 29,000 23,000
HEHSAE 29 2,000
HEHSANE 25 Sl S 4,000
A2 BB 20,000
02 S3=gHl 47,000 27,000 20,000
MEHSAIE (2317 Z8) AIEEH |X
2= 47,000
401 AIEHIZ SR 0HYI 65,000 217,000 /152,000
01 Al&H| 65,000 217,000 /152,000
272 MSAE(23SI17 Z8) &X 65,000
A2AEHSAEESELY 301,000 610,000 A309,000
401 Al HIZ 2018 301,000 610,000 A309,000
01 Al&H| 301,000 610,000 309,000




A HSAIEW
3 oM2E Ms =4
el MEHSAE X 2 &l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HEHNSANLEF2S 50,000
S = H0IESE &ld £X 20,000
ESZJIE HoANE £X 16,000
FHUT=DE X4 35,000
HEHSAE SIS A2 50,000
SEMI=TY HES 40,000
o =72y 2= 30,000
Hei=22H01€ OIFFE CCTV 24l 60,000
s 57 € 32y x4 260,000 260,000
401 Al HIZL S 0HYI 260,000 260,000
01 Al&HI 260,000 260,000
STMETSAE TAZLHE HESA 260,000
H2HSAE =5 1,000,000 4,940,000 3,940,000
= 710,000
Al 290,000
SPEREFIE IR X4 710,000 4,000,000 23,290,000
= 710,000
401 Al HIZL 201 710,000 4,000,000 A3,290,000
= 710,000
01 A28l 710,000 4,000,000 A3,290,000
SEZINE BHFEHA =4 710,000
< 710,000
SYAZXMIA(MEXR) 150,000 150,000
401 Al HIZ S OHbI 150,000 150,000
01 A28l 150,000 150,000
SIAEXNS U =2t £X 150,000
EEAEXT NP2 &F 140,000 0 140,000
401 AIEHIZ R 0HYI 140,000 140,000
01 Al&HI 140,000 140,000
SEAZXMNE JMUYEZ TAZeHEHS
g9 140,000
M178] 8= ofAZKA 2,000,000 0 2,000,000
= 700,000
< 300,000
Al 1,000,000
178 d= HLAZHA 2,000,000 0 2,000,000
= 700,000
== 300,000
Al 1,000,000
307 212+01& 2,000,000 0 2,000,000
= 700,000
=S 300,000




2A:

H=&EH

M o2 HS 54
=2l M7sl 8= HSALXHA EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 1,000,000
04 QIZHSHAAIZ B X 2,000,000 0 2,000,000
M178] 8= LA EL=HHA 2,000,000
= 700,000
& 300,000
Al 1,000,000
AL 29 2,392,117 1,769,070 623,047
QI0tEZ st M=Ald XA 2,392,117 1,769,070 623,047
2EIE s 29 630,831 620,067 10,764
101 21| 124,351 151,087 A26,736
M IIRIZ2EXSEs 124,351 151,087 A26,736
SYSEHsa 4 2el 33,461
-2 79,000 *1H 246! 19,434
=5 79,0003 * 1«52 4,108
=PIy 79,0003 *1Z 113 869
5222 =Y 118,500 * 15 *36 4,266
-FE25Y =4 79,0003 * 1162 1,264
-= &l 140,000 x1H* 123 1,680
-uEH| 70,0003« 1F 128 840
~HEFIH| 500,000& *1E*23] 1,000
HILIAZ 2] E4 73,890
-2 79,000 23X 246! 38,868
=5 79,0003 x2H «52 8,216
=PIy 79,0003 x2F 11 1,738
=25 ¢ 79,0002 x2H » 16 2,528
-= 2| 140,000& x2H 12 3,360
-uE| 70,0003 =2« 12& 1,680
-HEFIH| 500,000& 2 *23 2,000
-RU2fsY 118,500 »2F *60 14,220
—“4HEE 1,280
SYSEMSER M= 17,000
201 B2 AY| 435,480 358,980 76,500
01 A=R2teld| 122,280 41,580 80,700
SEYSEHsS det=2d| 6,000
SEYEEHsS HAEE 9,000
D] 2 Hidl extz
30,0003 2301+ 12& 8,280
=&l 8, 0003 x5+ 15U 12& 7,200
MDY XHES 3,000
S8 9 ME 1,000
AYAIE & XSEEH RX22 22 2,000
JIHA, MDA KRR 23 3,000




2AM: HI=
mr: RSAL 29
el AEEES PIE MSAIE X3 (SH9 H2)
SA - BB -GS - MRAY - BES Ofl by a8 MimE=EY
0l ko
NEHAHAAE 22| T2 28 2H0|AIA AL
2= 2,100
Fo18H| 89 =235 1,400,000& x 128 16,800
H3lX A2l 1,000,000~ 12& 12,000
ZBHSEIR 52| AHFY B2IBY
300,000 *6CH = 12& 21,600
SEHSEE AYAIE ot =2 19,300
Pl 22 450,000 63| 2,700
HSYUX =52 550,000 *x63] 3,300
MSAE @IQFBRT H2DAHLB
1,000,000& *53| 5,000
02 S32Z| 313,200 317,400 A4,200
INE=PSsIE=N]:] 32,000
Sedsa HHE)| S 22l
150,000 *82CH 12,300
M2 150,000
SYELIAT )23
2,400,000& 122 28,800
SIHLULAE &ot+E 22
125,000& x 128 1,500
Mot 22 2,000,000&x12& 24,000
SMRS(H3, CIHY!, IPTV)
300,000& 128 3,600
HIAZHED| RE2H] 100,000& x 128 1,200
Me=xX HA 8,000& x200E#23] 3,200
2183 26 LA 1,500,000 *2CH 3,000
SXJ| 25 A 1,500, 000& *2CH 3,000
SedE2 S22 EIIBA =2
400,000& *13] 400
MO|OHEE S| 100,000& *13] 100
PENSS(ZEHSH) FIFY 8Y
6,000,000&*13] 6,000
EEASY HIILHOHAG 248
5,000,000&*13] 5,000
Xlot XISSIEEHT A2&H|
2,500,000 *3CH 7,500
=FEX U 2 HEX HA
7,000& %950 6,650
=2 2tAlA! BHEC] 1A
330,000 = 1504 4,950
HILIAZ AIE&EBISXIHI 10,000
& AL EHIKR AL 5,000
=258 AMEEHIS XY 5,000
206 =8| 10,000 10,000
01 HZHI 10,000 10,000
SEHSAE L} 288 2 LR AN 10,000




2A: Msas
ZH: YSAL 29
CI9l: AIRIDHES 9/t HISAIL XY (12l M2
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
401 AIEBIZ20HbI 61,000 100,000 A39,000
01 Al&HI 61,000 100,000 239,000
SHASTEMSE2 JIHEH 4588 249 36,000
ST HelAd B At 13,000
B TEM=s2 SoHHEDI W 12,000
SEZIH L e s22d 380,213 403,568 A23,355
101 e124d| 66,922 59,998 6,924
M IIRNZ2EXsSEs 66,922 59,993 6,924
ST Fazel 33,461
-JlE22 79,000 *1H 246! 19,434
=5 79,000 * 1«52 4,108
-AXt=g 79,0003 *1F 11 869
5222 Y 118,500 x1H +36 4,266
-FERdsY 79,0003 x1H» 16 1,264
=&l 140,000 x1H* 123 1,680
-uE| 70,0003« 1H 123 840
-“HESOHI 500,000& *1E*23] 1,000
s izl 33,461
22 79,000 *1H 246 19,434
=5 79,000 * 1«52 4,108
-Axt=g 79,0003 *1H 11! 869
5222 Y 118,500 1H +36 4,266
-FERdsY 79,0003 x1H» 16 1,264
=&l 140,000 x1H 123 1,680
-uE| 70,0003« 1H 123 840
-“HESOHI 500,000& *1E*23] 1,000
201 L2 AY| 260,260 223,570 36,690
01 AtR2elt] 44,340 16,500 27,840
ABtZH| 1,000
HFAEE 7Y 2,000
A==D| gt SO dxtz
1,090,0003+6& 6,540
&I Y ASEE PY 3,500
=&l 2,000
oot~ 2
2,500,000 *4=D| 10,000
SEEINE =Xl A5
550,000& = 12& 6,600
FUYALS 22T 450,000 +63! 2,700
2cioldd 2E H 10,000
02 3324l 215,920 207,070 8,850
HMIIR23 82,000
Aot ER3 1,500,000& * 12& 18,000




A HSAIEW
M HEANE 28
Chol: AlRIDIES 98t MISAL X2 (crol: m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
S0l U SHYER3 60,0002 1224 720
MAZ 2 DIlEE HAY
2,500,000 23] 5,000
JIAEEl RX2+ 500,000& * 128 6,000
SEIE S0 AZEY 2el 4,000
diteglll & 2371 2
150,000 *54CH 8,100
SZIE s S04 (0ofzilolE
) 9,000,000 *32] 27,000
AEZEHIF X 40,000
S| FIIBA==2(SEZI1E, U
Xs2) 300,000 %13 300
SBTAES(HEMS2) 188 89
4,800,000 22| 9,600
2ENES(BEZINE) I8 89
5,200,000& 12 5,200
SEAE & HEAs2 &4 ™A
o =g 2,500,000 224 5,000
2ciolgdd 25 WA &
1,000,000 %52 5,000
206 M=l 2,000 2,000
01 MHZH| 2,000 2,000
SE3IIE &0 Sgdlg & SN 2,000
401 AlEHIZL S0 40,000 118,000 A78,000
01 Al&H| 40,000 118,000 78,000
ScholY & AZAIE &X 40,000
405 AtatE = 11,031 11,031
01 ML ESFSHI 11,031 11,031
Scholdd s 7Y 1,331
2chol2d =230 1,000,000 *2CH 2,000
UHEM=s2 A=A
6,700,000 ~1CH 6.700
HEds2 4530 24
1,000,000 *1CH 1,000
HSHH 28 N2 650,760 507,043 143,717
101 21A4H| 246,840 178,043 68,797
04 JIZtN2Z2 XS+ 246,840 178,043 68,797
=CXNSFUH Fa2el 132,280
-Jl==2 79,0002 x4 H #2462 77,736
=58 79,0003 x4 x522 16,432
-Axt=g 79,0002 x4~ 112 3,476
-FaRdsd 79,0002 x4 » 16 5,056
-FeI2Fd 118,500 x2& »60! 14,220
=l 140,000& x4« 123 6.720
pani=ts] 70,0002 x4~ 122 3,360




2A: MSHED
M MsSAE 29
o9l AIRIOHSS S8 HSAL K (crel: g)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
-HESIHI 500,000 x4 »23] 4,000
AU EE 1,280
SONSHEH MK 114,560
- 2UA 114,560
. 2= 11,6003 *BA| 2+x3H x246 2 68,487
. TEE 92,8002 +3 +52 14,477
. BREY 92,800 x32 #1124 3,063
saRYLY 92, 80021 x32 162 4,455
gaaesy
19, 340 *12A| 23 +22 15,318
. =] 130,000 x3% * 128 4,680
. AR 30,0002 +3E~ 123 1,080
HEFIHI 500,000 *3E x23] 3,000
-0t 0rZ A} 0
201 L2 | 372,920 324,980 47,940
01 Ar22teltl 95,100 50,880 44,220
dat2te| 23S 200,000 123 2,400
MNRES 100,000& 122 1,200
=Held(SEH) 50,000&*100& 5,000
SgaRIIE A2 20,0002 x250 &£ 5,000
=HMelM(HEA3) 50,0002 *x100= 5,000
ph2 AHI(EH ) 70,0002 *70S 4,900
s H2H 60,0002 +36= 2,160
ol 52 250,000& =123 3,000
=243 500
AREE HIF 4,000
Had| AER 50,0002 +7CH* 122 4,200
£(01R0122) 25 4,000
Ol2AAARY BE 2,000
SUF 24 FTANE
100,000&*12& 1,200
=G ZAL TS| 450,000 «6H 2,700
S22 I=H| 80,000 *4H*43] 1,280
HEAEE 300,000& =123 3,600
LED SIIFPES 200,000& 123 2,400
=&l 8,000& 1 +20 » 123 1,920
sotate| 9| 220,000 123 2,640
CCTIV FXE2+ 29| 280,000 =123 3,360
22 fIE2e Q|
280,000& 123 3,360
=HelAlE PAE2e 23|
330,000 123 3,960
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SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
SHEAE ASAL] BHHI(ZEZHOIES
) 30,0002+ 122 3,960
Molorm el )
680,000& =123 8,160
SERIALAMAE X2+ E2H9H| 13,200
02 2224l 277,820 274,100 3,720
23223 & HAl 127,320
-SRI 60,0002 12& 720
MRS 10,000,000 73 70,000
—&ol=ER23 8,000,000 +7& 56,000
-REYUERS 50,0002 x12& 600
A= H| 112,500
-22E /7 108,000
-2 RF 4,500
INF=F s E=INIs]l 38,000
-AMd2 s 5,000
=83 A 1,500,000 23| 3,000
-JIH &8l |RX2e] 13,000
-2 M2t HA 3,000,000 *2CH 6,000
-MD|&Hl A2 4,000
-SS4Hl KXzl 2,000
—2ADF 7X2el 5,000
401 A& HIZLE0HY| 30,000 4,020 25,980
01 Al&HI 30,000 4,020 25,980
SHIA0MSHE A8AH X SAH 30,000
405 RHaHE S| 1,000 1,000
01 AL S EFSHI 1,000 1,000
SHAIMSHH HEFD 7 1,000
BEAIXOE 29 370,445 370,445
101 2124 d| 78,685 78,685
M IIRINZ2Z2XsSEs 78,685 78,685
SIALI=NIT FHaze| 66,685
-J|l22 79,000& *2H 246! 38,868
=54 79,0003 x2Z »52 8,216
Xt 79,0003 x2F » 11 1,738
-FERdsY 79,0003 x2Y « 162 2,528
-2 118,500 x2H »35 8,29%
=&l 140,000& 2B+ 122 3,360
-uSH| 70,0003 x2H 123 1,680
-BEZOHI 500,000 2% 23] 2,000
BYALXOT HXE 12,000
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=&l 8,000 38 » 120! 2,880
Lo 89 #=2 300,000 * 122 3,600
=01, SIIEE0], It itz
400,000& 122 4,800
agordae| el =2
300,000 * 122 3,600
s |FAE+ U ===
207,500 =2CH 122 4,980
IR B2 48 4o
1,700,000& 122 20,400
IItE 22 MDA &l =2 3,000
02 S3=gHl 84,000 0 84,000
les 7,000,000 73 49,000
dote=Els= 1,500,000 «8Z 12,000
Sties 100,000 *3CH+7 & 2,100
PSEENPSE 225,0002 *23] 450
a2 ®)| &0 100,000 «12& 1,200
SH0FI| FEFLH 50,0002 122 600
HIIEH| dHAH =5 2,500
ANEEHI= X 10,000
et 22l 150,000 *17CH 2,550
JIAEEl RXE 300,000& * 128 3,600
206 M=l 1,500 1,500
01 MHZH| 1,500 1,500
St 2 S 1,500
401 AlZHIZ SO 150,000 150,000
01 Al&H| 150,000 150,000
SEAEXNS 2els 27 A3 EX 50,000
SIARXNT FAY AL RA2 100,000
ANd2e|lss MES 140,535 138,392 2,143
308 AFAIEHMSOIE 140,535 138,142 2,393
13 SI[2SOHe & EAS A 140,535 138,142 2,393
SEHs2 =298 29 106,010
HHSE2SE, d=Zad HSALE 28 34,525
SEEEAERE 2 219,333 219,333
101 @124H| 28,631 28,631
MU IIRINZZENSES 28,631 28,631
SEHEUEE A2 28,631
-Jles 79,0003 x1H 205! 16,195
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